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Background: Devoid of External Insights
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EoT: Communication Mode
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EoT: Confidence Evaluation & Termination Condition

Question: Twenty dozen cups cost $1200 less than
the total cost of half a dozen plates sold at $6000
each. Calculate the total cost of buying each cup.

Turn 1: 20 dozen cups are equivalent to 20 x 12 =
240 cups... The answer is $70.

Turn 2: One dozen is equal to 12, so 20 dozen
cups is 20 x 12 =240 cups...A's solution is
accurate. So, the total cost is $145.

Turn3: Let's first convert 20 dozen cups to a total
number of cups: 20 x 12 = 240 cups, ...Therefore,
the total cost of buying each cup is 90 dollars.

OTurn 1: First, we need to convert 20 dozen cups to
the total number of cups...Dividing both sides by

240: x = §70 Therefore, the total cost is $70.

Turn 2: Both A and B have provided their
solutions....Dividing both sides by 240: ¢ = $70.
So, the cost of buying each cup is $70.

Turn3: Based on the solutions provided by A and
B... 240x = $18000 - $1200 240x = $16800 x =
$70 So each cup costs $70.
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Experiment Results
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Analysis
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